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-4 357.8
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-6 301.0
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-10 294.3
@ 839.2 -1 292.4 Zx2s 9 gy 29
-2 296.2
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©) 855.1 -1 285.4 Zx2e 9 gY 295
-2 281.5
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1-E1 ® 1,631.4 -1 296.8 X2 ¥ Y 26
-2 392.1
-3 314.2
-4 310.5
-5 317.8
@ 694.3 -1 348.6 X2 ¢ Y 26
-2 345.7
1,924.5 -1 260.2 ZA=2e U Y =29
-2 260.2
-3 260.1
-4 259.8
-5 294.5
-6 295.1
-7 294.6
1-D1 @ 3,267.5 -1 295.1 X2 ¥ g4 26
-2 297.9
-3 298.0
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-5 304.5
-6 292.7
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-9 296.2
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@ 1,342.2 -1 333.4 X2 U g9 29
-2 337.6
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-4 333.8
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1,276.5 -1 312.2 2A2eg
-2 318.6
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-4 3271
3,064.7 -1 305.6 =
-2 306.2
-3 306.3
-4 306.1
-5 3124
-6 306.1
-7 305.8
-8 305.9
-9 305.5
-10 304.8
2,774.8 -1 301.9 ZA2e A yE =
-2 304.4
-3 304.1
-4 304.0
-5 307.3
-6 316.5
-7 312.3
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-3 296.1
-4 300.1
-5 313.1
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1,580.4 -1 313.7 X2 ¢
-2 315.6
-3 316.1
-4 3159
-5 319.1
1,781.6 -1 297.2 A2 U g
-2 297.2
-3 297.0
-4 296.9
-5 296.7
-6 296.6
593.1 -1 295.9 X2 9 Yy
-2 297.2
2,453.4 -1 306.4 Zx2s 9 gy
-2 304.8
-3 304.1
-4 305.1
-5 310.6
-6 308.0
-7 307.1
-8 307.3
2,952.0 -1 2941 X2 gy 2
-2 295.4
-3 295.1
-4 294.6
-5 293.0
-6 298.0
-7 295.7
-8 296.3
-9 295.9
-10 293.9
1,892.7 -1 317.5 i =2
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-5 313.8
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1-D2 1,0685.7 -1 352.0 ZA2e 9
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-3 351.7
1,055.9 -1 351.8 A2 ¢
-2 352.0
-3 352.1
591.5 -1 295.8 2Rz ¢
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1,840.6 -1 318.9 A2 ¢
-2 305.8
-3 305.8
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-5 305.6
-6 298.9
874.0 -1 291.2 ZAEE U F
-2 292.0
-3 290.8
2,436.5 -1 297.7 ZA2e ¥ F
-2 3056.7
-3 306.7
-4 309.0
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-7 305.4
-8 295.8
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1-D2 | @ 988.9 -1 330.8 L 2s U B 25
-2 329.2
-3 328.9
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-3 302.8
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® 899.5 -1 300.6 LxX2s U B 25|
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-3 298.8
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-3 290.3
-4 290.5
-5 290.2
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-7 290.4
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-9 308.0
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-6 272.0
-7 273.0
-8 273.0
-9 273.0
-10 270.0
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-2 287.0
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-4 260.0
@ 1,092.0 -1 263.0 X2 U 2 25
-2 271.0
-3 276.0
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2-D6 o) 1,116.0 -1 272.0 X2 U 2gYE =9
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@ 1,244.0 -1 310.0 ZA=2g 9 Y =9
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©) 2,489.0 -1 311.0 X2 9 Y =9
-2 311.0
-3 308.0
-4 314.0
-5 311.0
-6 311.0
-7 309.0
-8 314.0
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2-D6 @ 2,486.0 -1 311.0 X =2 ¥ Y =6
-2 310.0
-3 309.0
-4 313.0
-5 311.0
-6 309.0
-7 310.0
-8 313.0
® 2,489.0 -1 312.0 X2 ¥ Y =5
-2 311.0
-3 311.0
-4 314.0
-5 310.0
-6 309.0
-7 309.0
-8 313.0
® 1,117.0 -1 279.0 Zx2e U Y =25
-2 279.0
-3 279.0
-4 280.0
@ 942.0 -1 314.0 ox=2e U Y =25
-2 314.0
-3 314.0
552.0 -1 276.0 ZXze ¥ g4H =9
-2 276.0
2D-7 @ 960.0 -1 320.0 ZA2g ¥ 2E =9
-2 320.0
-3 320.0
@ 582.0 -1 291.0 ZXze ¥ 4 =9
-2 291.0
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20-7 | @ 3,107.0 -1 287.0 ZX =g ¥ gd =249
-2 293.0
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-4 293.0
-5 288.0
-6 326.0
-7 333.0
-8 333.0
-9 333.0
-10 327.0
@ 3,114.0 -1 306.0 ZX =g 9 Y =49
-2 313.0
-3 313.0
-4 313.0
-5 311.0
-6 309.0
-7 313.0
-8 313.0
-9 313.0
-10 310.0
® 1,403.0 -1 272.0 22 9 gH 25
-2 284.0
-3 285.0
-4 284.0
-5 278.0
2-08 | @ 3,093.0 -1 307.0 ZX =g 9 g4 =35
-2 316.0
-3 310.0
-4 316.0
-5 310.0
-6 301.0
-7 308.0
-8 313.0
-9 309.0
-10 303.0
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2-D8 | @ 1,901.0 -1 318.0 Zr2s o gy 23
-2 316.0
-3 311.0
-4 311.0
-5 319.0
-6 326.0
©) 1,716.0 -1 349.0 Zr2s ¢ gy 29
-2 352.0
-3 353.0
-4 347.0
-5 315.0
@ 1,532.0 -1 255.0 Zr2s 9 gy 25
-2 258.0
-3 255.0
-4 258.0
-5 259.0
-6 247.0
® 3,161.0 -1 311.0 ZX2e U gy 25
-2 313.0
-3 308.0
-4 311.0
-5 311.0
-6 313.0
-7 319.0
-8 321.0
-9 331.0
-10 323.0
® 2,066.0 -1 312.0 Zxes 4 Y 25
-2 318.0
-3 263.0
-4 278.0
-5 290.0
-6 304.0
-7 301.0
A |987HA | 159,887.7 5422 K| 159,887.7

_19_




o2 0T e I i)
He | He HS s (6]
1-E1 | @ 3,067.0 -1 298.8 Lxes ¢ Y 23
-2 311.4
-3 265.4
-4 357.8
-5 312.3
-6 301.0
-7 301.4
-8 312.3
-9 312.3
-10 294.3
@ 839.2 -1 292.4 Zres ¢ 5 25
-2 296.2
-3 250.6
© 855.1 -1 285.4 Zr e U Y 25
-2 2815
-3 288.2
@ 1,524.9 -1 282.2 Lx2s o gy 25
-2 281.9
-3 281.1
-4 322.6
-5 357.1
® 2,277.8 -1 393.8 Zr2et 9 oy 25
-2 424.9
-3 385.6
-4 363.0
-5 353.6
-6 356.9
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1-E1 ® 1,631.4 -1 296.8 X2 ¥ Y 26
-2 392.1
-3 314.2
-4 310.5
-5 317.8
@ 694.3 -1 348.6 X2 ¢ Y 26
-2 345.7
1,924.5 -1 260.2 ZA=2e U Y =29
-2 260.2
-3 260.1
-4 259.8
-5 294.5
-6 295.1
-7 294.6
1-D1 @ 3,267.5 -1 295.1 X2 ¥ g4 26
-2 297.9
-3 298.0
-4 298.7
-5 304.5
-6 292.7
-7 302.5
-8 291.4
-9 296.2
-10 296.1
-1 2944
@ 1,342.2 -1 333.4 X2 U g9 29
-2 337.6
-3 337.4
-4 333.8
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A
=) k=l HZE(nd)
1,276.5 -1 312.2 2A2eg
-2 318.6
-3 318.6
-4 3271
3,064.7 -1 305.6 =
-2 306.2
-3 306.3
-4 306.1
-5 3124
-6 306.1
-7 305.8
-8 305.9
-9 305.5
-10 304.8
2,774.8 -1 301.9 ZA2e A yE =
-2 304.4
-3 304.1
-4 304.0
-5 307.3
-6 316.5
-7 312.3
-8 312.3
-9 312.0
1,509.4 -1 302.9 ZA=e A g =
-2 297.2
-3 296.1
-4 300.1
-5 313.1
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1,580.4 -1 313.7 X2 ¢
-2 315.6
-3 316.1
-4 3159
-5 319.1
1,781.6 -1 297.2 A2 U g
-2 297.2
-3 297.0
-4 296.9
-5 296.7
-6 296.6
593.1 -1 295.9 X2 9 Yy
-2 297.2
2,453.4 -1 306.4 Zx2s 9 gy
-2 304.8
-3 304.1
-4 305.1
-5 310.6
-6 308.0
-7 307.1
-8 307.3
2,952.0 -1 2941 X2 gy 2
-2 295.4
-3 295.1
-4 294.6
-5 293.0
-6 298.0
-7 295.7
-8 296.3
-9 295.9
-10 293.9
1,892.7 -1 317.5 i =2
-2 315.8
-3 314.8
-4 314.2
-5 313.8
-6 316.6
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HE B Hs | (ne)
1-D2 1,0685.7 -1 352.0 ZA2e 9
-2 352.0
-3 351.7
1,055.9 -1 351.8 A2 ¢
-2 352.0
-3 352.1
591.5 -1 295.8 2Rz ¢
-2 295.7
1,840.6 -1 318.9 A2 ¢
-2 305.8
-3 305.8
-4 305.6
-5 305.6
-6 298.9
874.0 -1 291.2 ZAEE U F
-2 292.0
-3 290.8
2,436.5 -1 297.7 ZA2e ¥ F
-2 3056.7
-3 306.7
-4 309.0
-5 309.7
-6 306.5
-7 305.4
-8 295.8
2,923 .1 -1 292.9 ZA2e ¥ Y =2
-2 292.2
-3 292.2
-4 292.4
-5 292.6
-6 293.9
-7 290.8
-8 2921
-9 292.0
-10 292.0
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HS | HE HS % (nd)
1-D2 | @ 988.9 -1 330.8 L 2s U B 25
-2 329.2
-3 328.9
® 1,495.3 -1 299.5 =X 2s U By 25|
-2 299.3
-3 299.7
-4 299.0
-5 297.8
1-03 | @ 903.4 -1 301.2 Lx2s U B 25
-2 301.2
-3 301.0
@ 1,515.2 -1 303.1 Zree U Y =25
-2 302.6
-3 302.8
-4 302.8
-5 303.9
® 899.5 -1 300.6 LxX2s U B 25|
-2 300.1
-3 298.8
@ 2,903.1 -1 290.1 =X 2s U B 25|
-2 290.4
-3 290.3
-4 290.5
-5 290.2
-6 290.5
-7 290.4
-8 290.1
-9 290.4
-10 290.2
® 595.4 -1 298.2 LR 28 U Y 25
-2 297.2
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Hs | B2 HE (o)
1-D3 | ® 3,079.7 -1 3084 (X2 W Y 25
-2 308.1
-3 308.0
-4 307.9
-5 307.6
-6 307.6
-7 307.9
-8 307.9
-9 308.0
-10 308.3
@ 595.4 -1 298.8 ZX2E 9 Y 25
-2 296.6
2-E1 | @ 582.0 -1 299.0 (AT W Y 25
-2 283.0
@ 1,057.0 -1 268.0 (X2 W Y 25
-2 260.0
-3 269.0
-4 260.0
©) 3,959.0 -1 287.0 LR|2E 9 B 25
-2 287.0
-3 317.0
-4 282.0
-5 278.0
-6 263.0
-7 264.0
-8 264.0
-9 263.0
-10 281.0
11 280.0
12 319.0
-13 287.0
14 287.0
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gz | H2 HE 04%(n)
2-E1 | @ | 1,109.0 -1 2070  |[ZAEE W w23
-2 277.0
-3 277.0
-4 278.0
® 2,721.0 -1 270.0 Zx2E 9 Y 25
-2 273.0
-3 273.0
-4 272.0
-5 272.0
-6 272.0
-7 273.0
-8 273.0
-9 273.0
-10 270.0
® 555.0 -1 268.0 ZX2g 9 g9 =9
-2 287.0
@ | 1,086.0 -1 2650  |TARE U gy 25
-2 278.0
-3 265.0
-4 278.0
2-D1 @ 1,280.0 -1 313.0 ZX2g ¥ g9 =9
-2 314.0
-3 314.0
-4 339.0
@ | 1,870.0 -1 307.0
-2 314.0
-3 314.0
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A

=2 T ey o
il B v 45 ()
2-D1 -4 3140  |[EARE W Y =235
-5 314.0
-6 307.0
® 1,882.0 -1 313.0 e o gy 29
-2 314.0
-3 314.0
-4 314.0
-5 314.0
-6 313.0
@ | 18810 -1 313.0 |z @ Ew =25
-2 313.0
-3 313.0
-4 314.0
-5 314.0
-6 314.0
2-02 | @ 935.0 -1 3140  |ZARE ¥ Y =23
-2 314.0
-3 307.0
@ 1,936.0 -1 318.0 riee 9 8y 25
-2 325.0
-3 325.0
-4 325.0
-5 325.0
-6 318.0
@ | 19480 - 040  |mARE U By 25
-2 325.0
-3 325.0
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A

=H N ormy(g) : il

de | ¥s HE 4% ()

2-D2 -4 325.0 ZA=2g ¥ g8 =9
-5 325.0
-6 324.0

@ 1,568.0 -1 313.0 ZX=g & 29 =5

-2 314.0
-3 314.0
-4 314.0
-5 313.0

2-D3 | @ 2,400.0 -1 302.0 ZA=2g ¢ Y =9
-2 302.0
-3 302.0
-4 294.0
-5 294.0
-6 302.0
-7 302.0
-8 302.0

@ 3,620.0 -1 307.0 ZA=2g & Y =4

-2 302.0
-3 302.0
-4 302.0
-5 302.0
-6 295.0
-7 295.0
-8 302.0
-9 302.0
-10 302.0
-11 302.0
-12 307.0
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[E Hl
tor 12

)
(@)
=

HZE(nl) =
HS A (nd)
1,616.0 -1 253.0 Z2A=2
-2 275.0
-3 275.0
-4 275.0
-5 275.0
-6 263.0
3,391.0 -1 287.0 EE
-2 301.0
-3 302.0
-4 302.0
-5 302.0
-6 296.0
-7 277.0
-8 266.0
-9 266.0
-10 266.0
-11 266.0
-12 260.0
968.0 -1 241.0 Z2A=
-2 245.0
-3 244.0
-4 238.0
1,367.0 -1 278.0 N
-2 274.0
-3 274.0
-4 274.0
-5 267.0
1,774.0 -1 297.0 Z2A=2
-2 295.0
-3 295.0
-4 297.0
-5 295.0
-6 295.0
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i)

il

i)

ol

-
T




E Hl
tol 12

N
(@)
=

A
=) HS A (nd)
1,711.0 -1 289.0 =
-2 289.0
-3 295.0
-4 295.0
-5 271.0
-6 272.0
1,391.0 -1 271.0 =
-2 279.0
-3 272.0
-4 271.0
-5 298.0
1,711.0 -1 289.0 ZR2e o g
-2 295.0
-3 271.0
-4 289.0
-5 295.0
-6 272.0
2,395.0 -1 301.0 2Rz ¥ g
-2 300.0
-3 302.0
-4 292.0
-5 302.0
-6 301.0
-7 302.0
-8 295.0
1,094.0 -1 269.0 =
-2 279.0
-3 279.0
-4 267.0
849.0 -1 283.0 2Az2g o g
-2 295.0
-3 271.0
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o 1PN
b | wa | B e - 0% () ol
2-D4 | @ 1,181.0 -1 301.0 ZR2E U Y 25
-2 301.0
-3 295.0
-4 284.0
2-05 | @ 1,126.0 -1 278.0 Lxes 9 sy 25
-2 285.0
-3 278.0
-4 285.0
@ 1,126.0 -1 285.0 Lxes 9 Y 25
-2 285.0
-3 285.0
-4 271.0
©) 1,764.0 -1 290.0 Zr2s 9 gy 25
-2 296.0
-3 296.0
-4 290.0
-5 296.0
-6 296.0
@ 877.0 -1 285.0 ZX2e U gy 25
-2 296.0
-3 296.0
® 1,861.0 -1 308.0 Zx2s ¢ gy 23
-2 308.0
-3 315.0
-4 308.0
-5 308.0
-6 314.0
® 921.0 -1 308.0 Zr2s U gy 27
-2 308.0
-3 305.0
@ 1,713.0 -1 307.0 Zr2s o gy 27
-2 289.0
-3 291.0
-4 277.0
-5 279.0
-6 270.0
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A

=T oy : il
HS | vis e o1 (x)
2-D5 820.0 -1 279.0 A2 9 Y =9
-2 272.0
-3 269.0
©) 1,503.0 -1 261.0 Zx2e ¢ Y =5
-2 254.0
-3 254.0
-4 249.0
-5 245.0
-6 240.0
1 778.0 -1 263.0 X2 U 2gHE =29
-2 257.0
-3 258.0
a 1,055.0 -1 278.0 ZX2e 9 gY 295
-2 262.0
-3 255.0
-4 260.0
@ 1,092.0 -1 263.0 X2 U 2 25
-2 271.0
-3 276.0
-4 282.0
2-D6 o) 1,116.0 -1 272.0 X2 U 2gYE =9
-2 281.0
-3 281.0
-4 282.0
@ 1,244.0 -1 310.0 ZA=2g 9 Y =9
-2 313.0
-3 310.0
-4 311.0
©) 2,489.0 -1 311.0 X2 9 Y =9
-2 311.0
-3 308.0
-4 314.0
-5 311.0
-6 311.0
-7 309.0
-8 314.0
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A

2 T | e il
He | U2 HS C4%(nf)
2-D6 @ 2,486.0 -1 311.0 X =2 ¥ Y =6
-2 310.0
-3 309.0
-4 313.0
-5 311.0
-6 309.0
-7 310.0
-8 313.0
® 2,489.0 -1 312.0 X2 ¥ Y =5
-2 311.0
-3 311.0
-4 314.0
-5 310.0
-6 309.0
-7 309.0
-8 313.0
® 1,117.0 -1 279.0 Zx2e U Y =25
-2 279.0
-3 279.0
-4 280.0
@ 942.0 -1 314.0 ox=2e U Y =25
-2 314.0
-3 314.0
552.0 -1 276.0 ZXze ¥ g4H =9
-2 276.0
2D-7 @ 960.0 -1 320.0 ZA2g ¥ 2E =9
-2 320.0
-3 320.0
@ 582.0 -1 291.0 ZXze ¥ 4 =9
-2 291.0
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u! 1N
Eg ;_-t; S5 ) Ha - Gy ol
20-7 | @ 3,107.0 -1 287.0 ZX =g ¥ gd =249
-2 293.0
-3 294.0
-4 293.0
-5 288.0
-6 326.0
-7 333.0
-8 333.0
-9 333.0
-10 327.0
@ 3,114.0 -1 306.0 ZX =g 9 Y =49
-2 313.0
-3 313.0
-4 313.0
-5 311.0
-6 309.0
-7 313.0
-8 313.0
-9 313.0
-10 310.0
® 1,403.0 -1 272.0 22 9 gH 25
-2 284.0
-3 285.0
-4 284.0
-5 278.0
2-08 | @ 2,177.0 -1 2711.0 ZX =g 9 Y =35
-2 279.0
-3 277.0
-4 270.0
-5 269.0
-6 270.0
-7 273.0
-8 268.0
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=3 oyma) _ = i
HS | HS HS N ()
2-D8 | @ | 1,080.0 -1 2730  |ZXEE 9 gy 20
-2 267.0
-3 267.0
-4 273.0
A | e | 1503867 BOSZIA| 150,386.7
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L BEXY Y 2EEx (#2)
1) SSTEEX (HY)
m o=
cows | Jipes | om o bl
1-A1 1-A1 36,090.0 1-Al 36,090.0 |OtItE
1-A2 1-A2 13,703.0 1-A2 13,703.0 |[ZX2& U &H 25T FEY H2xe
1-A3 1-A3 42,483.1 1-A3 42,483.1 |HI8Z, H9SQ} FEHAHM)|ESHHEHTY
1-Ad 1-Ad 43,061.1 1-Ad 43,061.1 [Al4Z=, AM5Z0 ollSole RUSEIAIMS
1-Ab 1-Ab 48,637.2 1-A5 48,637.2 |UXI2E Its)
1-A6 1-A6 44.583.0 1-A6 44,583.0
1-A7 1-A7 25,865.1 1-A7 25,865.1
1-A8 1-A8 69,026.3 1-A8 69,026.3
2-A1 2-A1 44,090.0 2-A1 44,090.0
2-A? 2-A2 49,518.0 2-A2 49,518.0
2-A3 2-A3 49,990.0 2-A3 49,990.0
2-Ad 2-Ad 47,198.0 2-Ad 47,198.0
2-Ab 2-Ab 25,611.0 2-Ab 25,611.0
2-A6 2-A6 23,472.0 2-A6 23,472.0
2-A7 2-A7 35,873.0 2-A7 35,873.0
2-A8 2-A8 41,251.0 2-A8 41,251.0
2-A9 2-A9 29,471.0 2-A9 29,471.0
2-A10 2-A10 56,497.0 2-A10 56,497.0
2-A11 2-A11 49,781.0 2-A11 49,781.0
2-A12 2-A12 31,317.0 2-A12 31,317.0
2-A13 2-A13 29,259.0 2-A13 29,259.0
2-A14 2-A14 34,168.0 2-A14 34,168.0
2-A15 2-A15 52,629.0 2-A15 52,629.0
ERORIE | EROIE | (7 a780) | ETORIS | 4780
éﬂ_ﬁ)é%*g 257("55')@ (27,599.0) ‘@ﬂ_ﬁ)gg (27,599.0)
Al 2304 923,573.8 23ZK| 923,573.8
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cess | JlwMs | e = o i
1-Af 1-Ad 36,0000 | 1-Af 36,0000 |ohte
-2 1-A2 13,7030 | 1-A2 | 13,7030 |ERieE 0 s 2c e Aozl
1-A3 1-A3 | 424831 | 1-A3 | 424831 |dss, Mosel Femisn|ESolRea
1-Ad 1-Ad | 430611 | 1-Ad | 43,0611 |A4E AsZOl sigsle SOpSalALe
1-A5 1-A5 | 486372 | 1-A5 | 48,6372 |UixI2E Jks)
1-6 1-A6 | 445830 | 1-A6 | 445830
1-A7 1-A7 | 258651 | 1-A7 | 25865.1
-8 1-A8 | 69,0263 | 1-A8 | 69,026.3
2-Af oM | 440000 | 2-A1 | 44,0900
2-A2 2A2 | 494680 | 2-A2 | 49.468.0
2-A3 2A3 | 400000 | 2-A3 | 49,990.0
2-Ad 2Ad | 471980 | 2-Ad | 47,198.0
2-A5 2A5 | 255740 | 2-A5 | 255740
2-A6 2A6 | 234720 | 2-A6 | 23.472.0
2-AT 27T | 358730 | 2-AT | 35873.0
2-A8 278 | 412510 | 2-A8 | 41,2500
2-A9 2A9 | 20471.0| 2-A9 | 20471.0
2MO0 | 2-AM0 | 56497.0 | 2-A10 | 56,497.0
2A1 | 2-AI1 | 49,7810 | 2-A11 | 49,7810
2M2 | 2-AM2 | 313170 2-A12 | 31,3170
2M3 | 2-A3 | 292500 | 2-A13 | 29,2500
2A4 | 2-AM4 | 341680 | 2-Al4 | 34.168.0
25 | 2-AI5 | 524220 | 2-A15 | 52422.0
ST | ETEE | qarso | FTNEIS | @418.0
SIS ETNE 1 rs00.0) | TS| 27,5000
A Wl | 9232798| 23TX| | 9232798
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2) TANYYEFEHEX (HEUS
EHHS JI?HS | HE(of) . A vl
HS | HA(xd)
3-G1 - 11,909.4 -1 1,513.4 |o¥Eist 1ZX0f 3hf B Its - 28 23
-2 1,517.4
-3 1,5617.4
-4 1,528.6
-5 1,440.2
-6 1,467.6
-7 1,467.4
-8 1,457.4
H e | 11,9094 | 8ZK| | 11,909.4
3) SEEX (HZUS)
SHHS JlRHE | BiX = bl2
HS HE
1-C1 1-C1 36,949.0 | 1-Ct 36,949.0 |ZA28 U By 27
1-C2 1-C2 34,603.1 1-C2 | 34,603.1
1-C3 1-C3 42,5335 | 1-C3 | 42,5335
1-C4 1-C4 355816 | 1-C4 | 35,581.6
2-Cf 2-Ct 36,074.0 | 2-Cf 36,074.0
2-C2 2-C2 45952.0 | 2-C2 | 45952.0
281 | =&H 56,332.7 | =8H | 56,332.7 [RIREIHsHO o8t ZX|LE s
sg2 | S@2 23,910.0 | =82 | 23,9100 Zreg ¥ &Y 235
283 | =283 27,3030 | S§3 | 27,303.0
284 | =284 M877.1 | SEHM | M,877.1
=85 | =85 35,480.1 | =§5 | 35,480.1
H 1K | 416,596.1 | 11ZX| | 416,596.1
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= o [l il D D DH
0D oD 0D oD 0D 10D
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= HU HU HU =11 HU
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o
o] | — N ||~ | N |||~ | »m N | w |~ N |||~ N ||| 0| ©
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Vil © <. <. M~ S 5=}
.__.Ml [aN] (o] N [aN] <t Lo
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€)

@
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rJ
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A

CHHS | IS | EHE(d) H|D

HS | HE(of)

el @ 1,791.0 -1 FO7.0 |ZRIRE U Bl 25
2 580.0
-3 614.0

@ 2,273.0 - 5580 |ZAI2E U Bl 25
2 574.0
-3 574.0
-4 567.0

® 2,178.0 -1 5400 |ZAl2E Y i 25
2 551.0
-3 551.0
-4 536.0

ed @ 2,942.0 -1 5480 |LAIRE U Bl =25
2 505.0
-3 593.0
-4 591.0
-5 615.0

6 @ 2,601.0 -1 AT70 |ZXi2e 9 s 25
2 500.0
-3 500.0
-4 501.0
-5 623.0
A 1M 32,0754 | MZX| | 32,0754




rJ

rd

s | HF(nd) i

HS | HE(n)

@ 2,682.3 -1 9228 |ZALE Y
-2 898.7
-3 860.8

@ 2,428.3 -1 600.8 |ZALE U B
-2 612.9
-3 612.8
-4 601.8

©) 24776 -1 8272 |ZARE W 2
-2 833.2
-3 817.2

@ 2,780.2 -1 9203 |ZALE W =2
-2 1,037.5
-3 822.4

@ 4,067.0 -1 1,0290 |ZA2E 9 &Y =2
-2 1,025.0
-3 1,016.0
-4 997.0

@ 5,855.0 -1 1,031.0 |Zx2s % sy 2
-2 1,019.0
-3 1,010.0
-4 1,001.0
-5 992.0
-6 802.0
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A

SEHHS IHS | HE(nf) e o1%(xd) B2
=4 @® 1,791.0 -1 5970 |ZA=2g ¢ &Y =45
-2 580.0
-3 614.0
@ 2,273.0 -1 508.0 |ZAlZe & E =25
-2 574.0
-3 574.0
-4 567.0
©) 2,178.0 -1 5400 |ZAEE % g4 25
-2 551.0
-3 551.0
-4 536.0
Zel5 @® 2,942.0 -1 5480 |ZAlZe & &Y =25
-2 595.0
-3 593.0
-4 591.0
-5 615.0
Zel6 @® 2,600.0 -1 4770 |2RRE ¢ Y =95
-2 500.0
-3 500.0
-4 500.0
-5 623.0
@ 1,407.0 -1 4720 |Z2X2e ¥ Y =5
-2 474.0
-3 461.0
Al 127 33,481.4 4rEX| 33,481.4
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2) ZFHEX (HEUS)
EHHS | IS | HE(n) il ]l
HS | HE(nd)
=71 @ 897.9 -1 897.9 |UHXI2EIksAol ojst ZAIRE Jbs
@ 1,099.3 -1 549.7 |ZXI2E U Y 27
-2 549.6
©) 897.8 -1 897.8 |UHXI2EIksAol ofst ZARE Jhs
@ 3,733.1 -1 8775 |ZXI2E U &Y 27
-2 989.6
-3 986.5
-4 879.5
=2 @ 2,974.8 -1 1,098.9 |ZX2s U sy 25
-2 980.5
-3 895.4
@ 2,805.4 -1 9206 |ZX2e U gy 25
-2 954.9
-3 929.9
©) 4,041.7 -1 654.0 |ZXI2E U Y 25
-2 662.5
-3 653.4
-4 685.0
-5 701.6
-6 685.2
@ 6,123.1 -1 1,0545 |ZX2s U Y 25|
-2 1,054.1
-3 1,063.7
-4 1,053.0
-5 1,000.8
-6 907.0




A

EHHS | IS | BEE(n) = |22
HS | HE(nd)
Z=Z=3 @ 1,966.0 -1 654.0 |ZAR2 U 3 25|
-2 659.0
-3 653.0
@ 1,782.0 -1 506.0 |ZA|2E U B =23
-2 596.0
-3 590.0
©) 2,625.0 -1 653.0 |ZAI2E U 3 25|
-2 653.0
-3 659.0
-4 660.0
ZZ=4 @ 2,860.0 -1 1,400.0 |Zx2g U s 25
-2 1,451.0
@ 2,763.0 -1 809.0 |ZX2a U &Y 27
-2 618.0
-3 668.0
-4 668.0
© 1,543.0 -1 797.0 |ZX2g 9 &Y 25
-2 746.0
@ 2,714.0 -1 842.0 |ZX2g U &Y 27
-2 628.0
-3 631.0
-4 613.0
® 1,851.0 -1 087.0 |ZA2E U aH =23
-2 864.0
® 2,358.0 -1 780.0 |ZX2s U Y 27
-2 780.0
-3 798.0
@ 1,760.0 -1 1,0561.0 |Zx2g ¥ Y 25
-2 709.0
2,174.0 -1 7270 |ZA2E U & 23
-2 719.0
-3 728.0
A 19714 46,9691 58ZX| | 46,969.1
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X

EHHS | JIPHS | HE(of) 515 7= () ] el
25 o) 7,188.4 - 7,188.4 |UAI2ETtsMOl| o5t LAI2E Jhs
@ 9,539.4 - 0,539.4 |HXI2EIksA0| o5t ZA|28 ks
©) 5,852.6 -1 1,037.3 |Zx2a o &Y 27
-2 1,975.2
-3 1,940.1 |HRI2EIEsMo| o8t LX|LE ks
a2 @ 6,647.2 - 6,647.2 |HAIREIpsA0| o5t ZR|28 Jhs
@ 8,080.9 - 8,080.9 |THXI2EIbsA0| oI5t ZA|28 Jhs
© 7,144.2 - 71442 |UHRI2EDHsMOl| olft TARE Jis
@ 3,548.1 -1 1,757.9 |HAI2&IKsHMol| olst LX|2E Jts
-2 1,790.2 |ZA28 9 Y 25
® 1,632.9 - 1,632.9 |HAI2EIEsMOl| o5t X128 Jts
® 1,733.3 - 1,733.3 |HAI2EIEsMOl| o8t DX|2E Jhs
@ 1,981.6 - 1,981.6 |UHAI2EIHsAMO| o8t ZA2E Jis
o3 @ 2,220.3 -1 1,163.5 |ZA28 9 &Y 23
-2 1,056.8
@ 2,139.3 -1 0857 |ZA2E U &Y 25
-2 1,153.6
©) 2,102.0 -1 1,069.0 |Zx28 U &Y 25
-2 1,033.0
@ 1,269.3 -1 634.6 |ZA2E U &Y 23
-2 634.7
® 1,463.7 -1 776.8 |ZA2E U &Y 25
-2 686.9
® 1,824.3 -1 899.6 |ZA2E U &Y =23
-2 924.7
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A

CHHS | JIPHE | BE(n) s | em il
e @ 1,997.4 - 668.1 [ZA2E o g 2o
-2 670.2
-3 659.1
2,108.0 -1 659.0 |ZARY Y Y 29
-2 657.9
-3 791.1
© 1,949.7 -1 643.0 |ZrLE U Y =29
-2 652.9
-3 653.8
® 1,937.2 -1 641.1 [Zxi2s ¢ By 23
-2 649.0
-3 647.1
4 @ 7,247.0 -1 1,167.0 |[2r=2g ¢ s 23
-2 1,181.0
-3 1,336.0
-4 1,190.0
-5 1,190.0
-6 1,183.0
@ 3,637.0 -1 9150 |ZXge ¥ g 2
-2 915.0
-3 915.0
-4 892.0
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A

EHHS | JHBHe | HE(od) " () |2
ofd4 ©) 3,706.0 -1 926.0 |ZA=2™ ¥ &Y &4
-2 926.0
-3 926.0
-4 928.0
@ 3,3565.0 -1 828.0 |2A=¢ ¥ ¥ 29
-2 843.0
-3 842.0
-4 842.0
® 3,386.0 -1 833.0 |ZA=e ¥ ¥ 29
-2 851.0
-3 851.0
-4 851.0
® 3,5615.0 -1 873.0 | 2X=¢ ¥ ¥ =9
-2 870.0
-3 903.0
-4 869.0
otHb @® 13,678.5 -1 2,416.0 |ZX2g ¥ &Y 24
-2 2,487.9
-3 5,086.7
-4 2,121.4
-5 1,566.5
@ 6,077.3 -1 1,038.3 [E2A22 % ¥ =9
-2 1,014.3
-3 1,000.2
-4 1,023.3
-5 1,011.0
-6 990.2
©) 1,375.1 - 1,375.1 |[ZX=2g ¥ g4 =9
Al 29714 118,336.7 752K 118,336.7
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e
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orr

IS}
He
ok
or

2) dFEX (HEYUS)
EHHS | JIPHS | WA (o) — S A
HAAI % (nrf)
A2 @ 15,633.9 - 15,633.9
@ 16,142.7 - 16,142.7
©) 7,639.3 -1 3,171.4
-2 4,467.9
@ 6,834.2 -1 3,383.5
-2 3,450.7
® 12,462.6 -1 6,629.4
-2 5,833.2
® 6,896.2 -1 3,458.0
-2 3,438.2
@ 5,481.1 - 5,481.1
.| T | 71,090.0 HZX| 71,090.0
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O, TAXYFANLER (HZA)
>

1) ZAXSANLEEX (HE)

ks
CHHS | JIPHS | HE(n) - 7 X - =
K | @ | 64,0830 ?&w MET TS 650-3 64,083.0 | WIS ol
@ | 58363.0 ZSIEMI MST ESS 6503 58,363.0 | VISl o
3 0.836.0 ZSI%MI MST 295 650-3 08360 EHXE%;E%?L ot
K42 @ 52,053.0 ??Al NST =9 5602 52.053.0 EHKEJ%U%E@;O'L olgt
A 43 @ 30,397.0 |OFAFA| BHEFS ZHRHZ] 679 29 | 30,397.0 LHXE%J%E@;TL olst
@ 54.377.0 |OFALA] BHES AHRHZ 679 29 | 54,377.0 EHXE%U%E%OIL olst
A2 @ 16,815.0 |OFARA] EFEITY Of=32] 945 U 1&M50EM§%§§%LQ@
A | @ 2.370.0 |OFAA| EFRIDY 52| 695 U | 23700 | ZARE o s 25|
@ 9,924.7 |OFAIA| EFED 25a] 695 U | 9,924.7 EHXE%U%E%?L ost
® 6,893.8 (OFAMAl VR B2 695 29l | 6,893.8 | 1 E RS S
@ 22.239.7 |O}AHA| EFRIT 25=7] 695 2UY 22.239.7 EHXE%U%E*%TL ofst
® 15,214.7 |O}AIA| EFEIDY 252] 695 2 | 152147 EHXE%U%E%OIL oJst
® 8,221.2 |OFAtA| EFEID 25a] 695 U | 8,221.2 EHXE:J%E%OIL olgt
@ 13,510.9 [O}AHA| EFMTE 52| 695 U | 13,510.9 EHXE%%ESTL ofst
® 2,173.0 |OFAMA| EFRIDY 22| 695 U | 2,173.0 | A2 2 & 20|
H | 1571 | 366,472.0 {5IK| 366.472.0
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H
E
0X

= = g A
-l ]
EHHS JHS | HEY(w) SIR] oI () B2
TIOtAl A5+ 2YS 650-3 Moj| ofst
e | D 60830 g, ST = 64,083,0 | WIEEVISEH S
oAl M5+ 28s 650-3 HRIE p=Mol| o)t
2 | 583630, 58,363.0 | o ig
HOAl M5+ 2= 650-3 LIR[EEH s Mo ol
© 9.836.0 ., 0,836.0 | SIS
RN MS+ 28 564-2 o 5
Rel | @ | 52,0530 52,053.0 | S RSN A
OEI% 2Rz
R@3 | @ | 353620 [OKAI HHUS FAR) 679 2l | 353620 | WIEENSEH Sl
@ | 487430 |OKAAl BHLS EAHR) 679 U@l | 48,7430 | WIEEISCH S
Red | @ | 168150 [OKAl BB 452) 945 U | 16,8150 g =SS <I
L= ® 2,370.0 |OKSHA| W E5d] 695 LA 2,370.0 | ZXl2et 9 &Y 2of
2 0,924.7 |OFAA| P B2 605 2@ | 90247 | IR EASEH S
3 6,893.8 (OFAMAl PRI B2 695 29l | 6,893.8 | 15t AST =
@ | 222307 |OfatAl P 82| 695 Ul | 22,2307 | WIERISCH S
® | 152147 OHAtAl SPEIB BR) 695 Ul | 152147 | WIERISCH S
® 8,221.2 |OFAA| P B2 605 2@ | 82212 | R EASEH S
D | 13510.9 ORAAl BB 25| 605 A9l | 13,5109 | WIEEIEEH &
2,173.0 |OMAHA] SFRID1 BF2| 605 U | 2,173.0 | ZA=E 9 & 2o
A | 1574 | 365,803.0 15ZA| 365,803.0
SSANE & JIEtNEEA (HE)
1) SSHAMEX (HEUS)
- _ & A
CEHHS | VS | HE(w) bl
#A X (nf)
TE | ZAEN | 1,025.1 HOA| MST S 1518 1,025.1 [mxi=ar ot e o]
ZE2 | ZE2 | 1,000.1 HOA| MST SEE 1519 1,000.1 [mri=at ot el 2o
=23 =2x3 794.0 ORSHAL BHZS Allalel 794.0 |ZX|2st Ol sH 23]
oo oo . {l‘]‘”—‘l%% . =2NT=E x o =&
A | e | 28192 3| 2,819.2
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2) X (HE)
mJE
g X
SHUS DS | HE () B2
A A& (nt)

= 1 3,205.1 |HOtA| ME7 =& 1500 3,205.1 | ZX2g ¥ &Y 25
=} =y 3,103.1 |ZICtA| MS7 &S 1573 3,103.1 | Zx2g ¥ Y 23
3 3 3,400.0 |OFAHA 0 Of=e| 447 U 3,400.0 |ZX|28 U &Y 23
24 24 3,400.0 [O}AFA| HHEES M| 382 L 3,400.0 |Zx|28 o &Y 23
A | e 13,108.2 JibuipN 13,108.2 -
1 1 14,850.0 | HIQHA| AMS7 2ES 1501 14,850.0 | ZXi2st U 4 25
X2 X2 14,442.5 |HQHA| NS+ Y& 1574 14,4425 | ZX|28t U 14 25
=3 =3 14,000.0 O} A EFETY Of=22| 456 LU 14,000.0 | ZX|2g & &Y =5
4 74 13,000.0 |OFAA| BHEFS A|we] 433-17 LY 13,000.0 | ZXi2st U Bk 25
x5 =5 13,000.0 |OFAHA| BHEES AlwE] 402 U 13,000.0 | ZXl2g 9 & 25
2~ A | 5 | 69,2925 52K 69,292.5 -
= Z=H 14,850.0 | RIOIA| A2 SE= 1513 14,850.0 | ZAl=st U & =25
&2 &2 14,000.0 |OFSHAl EEH Of=2] 283-1 LA 14,000.0 | ZAl=st U & =25
2~ A | 2~ | 28,850.0 22X 28,850.0 -
il il 15,153.9 [HMQtA| MST =& 1794 15,153.9 | ZX|28 o &Y 23
Iy v 15,000.0 [OFAFA] BHE S Al2| 396 LA 15,000.0 | Zx28 % &4 25
2 A | 2~ | 30,153.9 22X 30,153.9 -
A 1370 | 141,404.6 132X 141,404.6
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g A
EHHS | JIPHS | HE() o/l
HA HZ(nt)
S T 3,205.1 |HIQHAl M=+ =Y 1500 3,205.1 |ZX|2e U &Y 23
22 32 3,103.1 |HOtA| MSE7 2ES 1673 3,103.1 | Zx2g ¥ &Y 25
23 23 3,400.0 |OFAIA| EXADY Dfj=g] 447 LY 3,400.0 | ZX28 U B 25
S4 24 3,400.0 |OFAIA] RS Mlwe| 382 U 3,400.0 | ZA2e % B4 25
25 25 3,400.0 |OFAIAl HHEES Alire| 436 L& 3,400.0 |Zx|2st 9 3 25
2~ A | 54 | 16,508.2 52K 16,508.2 -
ey ey 14,850.0 |HQHA| A5 2EE 1501 14,850.0 | ZA|2st U B 25
72 72 14,442 5 |FOMA| M2 SY= {574 14,442.5 | Zr|2st U 5l 25
=3 =3 14,000.0 [O}AFA] EFHO4 D=2 456 LU 14,000.0 | 2X[2& 9 &Y =5
4 4 13,000.0 [OFAFA| BHELS M2 433-17 U 13,000.0 | ZA2st U Bl =25
=5 75 13,000.0 |O}AIA| BHEES M|We| 402 2L 13,000.0 | Zx2st @ sl =25
2~ A | 5 | 69,2925 52X 69,292.5 -
= = 14,850.0 |FOA| A7 2= 1513 14,850.0 | ZA|2st U 51 25
Z=2 Z2 14,000.0 |OFAFA| EFRIDY Of=2) 283-1 U 14,000.0 | ZA|2st 9 5 25
=3 =3 14,000.0 [OFAFA| BHEYS Mwe]| 443-7 U 14,000.0 | Zx|2st o i =25
2~ A | 3 | 42,850.0 3ZX| 42,850.0 -
1 1 15,163.9 |HOtA| M=+ 2 1794 15,153.9 |ZA|2& ¥ &Y 25
2 Iy, 15,000.0 |[OFAFA] BHEFS M2l 396 L | 15,000.0 |Zxi2s ¥ &y 23
2~ A | 27 | 30,153.9 2L K| 30,153.9 -
A 15744 | 158,804.6 152X 158,804.6
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Mt
N

I
0y
D)

Jo
N

w

L
=~

I

WEANLEX (HEQ
_ g A
NS | ()
045 (xf)
@ 7704 |Z
795.9
796.0
5,978.9 799.6
960.5
933.3
923.2
@ 755.1 2
755.1
748.8
4,509.3
7447
754.5
754.1
@ 1,125.0 |z By 2
2,255.0
1,130.0
R 12,743.2 12.743.2
HARUEEX (
_ 3 x|
US| HE () : 5
SR
SZ1 | 59375 SCt= 1520 9 siu 25|
S42 | 5572.0 |OtA] BHD Of=2] 311-1 9 sies 25|
=Z3 | 1,885.0 ORCIA| BHES Mlwle]| &H11-1 9l 5 25
SZH4 | 8,064.0 A AST 2ES 1507 ol siu 25
Aie | 21,4585 4|
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5 ZUANMLEEX (HAH)
m ™
- - g X
CHHS JI7HS| X (nf) — | el
AR 0475 (k)
=7l | B 834.2 |ZIOtA| MEF? SE= 1803 834.2 |ZXI2st U B =25
=92 | =2 558.0 |FIOIAl MEF Y= 1720 558.0 |ZX|2set U & 25
=193 | =03 1,389.0 |XOA| M7 Y= 1807 1,389.0 |ZX|2e W g 25
=04 | B4 1,345.3 |HOIA| ME7? 2= 1852 1,345.3 |ZX[235t U 5 25
=15 | EW5 1,318.0 [OFAA] HHEES M| 433-9 LU | 1,318.0 |ZXA|2st ¥ &Y =25
=16 | =16 992.0 |OFMA] BHEES Mlle| 425-55 LA 092.0 |ZA|2E ¥ g 25
Al 6IHA 6,436.5 6ZX| 6,436.5
. UI_=|7=|
_ _ g Al
CHHS JIPHS | WX (nf) — | el
AR ()
Z=171 =11 834.2 |FOIA| M7 Y= 1803 834.2 |Zx|2s U g =25
=92 | =2 558.0 |FICIAl M2 = 1720 558.0 |ZX|28t U &Y =25
=w3 | 173 1,389.0 |HOIA| A7 2E= 1807 1,389.0 |2x|2st U &y =25
=W4 | B4 1,345.3 |HOIA| A2 Y% 1852 1,345.3 |ZX|2st U 5 25
=w5 | EW5 1,318.0 |O}AMA| HHEYS M| 433-9 LU | 1,318.0 |Zxl2st U &Y 25
=16 | =16 992.0 |OtAHAl BHENS AMlle| 425-55 L& 092.0 |ZA|28 ¥ g 25
=07 | E07 1,200.0 |[OFAFA] EFAOY D=2 284 U< 1,200.0 |Zx|2st ¥ gy =25
Al TN 7,636.5 =X 7,636.5
6) MSAMLEEX (HA)
m ™
SO RS B () 3 A oD
AR 04%(nt)
H=21 M1 | 3,015.0 [OFAIA] BHEES AMlle| 420-22 2| 3,015.0 |ZXA2s U s 25
ME2 | ME2 10,468.0 [OFAA| HIEYS S| 427-4 L | 10,468.0 |ZA2s U &Y 25|
Al 20 |13,483.0 22X 13,483.0
| SEPE
CHHS S| B () 3 A "
AR 04%(nt)
M1 | A1 | 3,015.0 |[OFMA] BHEES M|we| 420-22 L 3,015.0 |Zx|2st U gy 25
HME2 | AS2 | 10,2840 |OFAA| HHEES S| 427-4 U 10,284.0 |Zx|2st o st 25
Al 204 | 13,299.0 2ZIX| 13,299.0
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7) dEHHXSBANESA (HEUS)
SHAHS IS | HE(nd) ki il
#A ] (nf)
S | BT [43,800.0 [OFSAl BHES HME] 674-16 L | 43,800.0 |2xlzet o & =3
A | ke 438000 1207 43,800.0
8) HI=xe|ANEEX (HEUS)
EHYHS JIPHS | BE () S A Cl
A 2 (nf)
D121 | HJ121 | 2,0780 [OHAAl EFEDE DHZR| 252 U | 20780 |ZAa o e 24
H7122 | HJI22| 2,199.0 [OIHAl BIUES SOHRI 191-1 U9 | 21990 2R @ e =4
A | ok | 42770 22| 4,277.0
9) HHASSNLEX (HEEUS)
SRS DIPUS | B ) S o2
B FA T (nf)
Jkat | okt 19,1210 [oRAkAl HHEES EOHR) 416 U 19,121 |Zrie o e 2o
2 | Jks2 | 3650 [ORAHAL HREES HUAR) 404-2 U 365 |BrieE @ s 2o
I3 | T3 | 344881 |[OFHA| EVEIDY Siola) 1202 34,4881 | EAE o Bl o]
A | I | 134256 [OFHA] EVEIDE SH013] 1203 134256 | BRI 9 o1 2o
A | ke | 67,3097 42| 67,399.7
10) *SEXEA (HE8S)
i _ g Xl
CHHS DIPHT | HE(nf) ]
#A HZ(nd)
SE1 | RE1 (20,2864 [0 IS FURI 1722 YUY | 29,2864 |LRie 9 e =5
FS2 | 352 24,6513 [OWMAl BILES FORI 176-3 A | 24,651.3 | IS TS SIEt
A | 2 |53,937.7 22| 53,037.7
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11) stA & 2X (HEAAS)
- - E| X
CHHS DITPHS | HAE (o) Bl
AR 04%(nt)
(o] = 541 | 83,840.8 |OFAMA| EFRIDY ZEAL| 807 83,840.8 |Zx|2st U &Y 25
Al 104 | 83,840.8 12X] 83,840.8
12) TRALAEX (HE)
| ps
_ _ g X
EHHS JITPHS | HE(nof) =] o)
| & (nf)
=21 | =21 | 1,061.9 RO M2 2C= 1460 1,061.9 |Zx2s U g 25
Z=22 | =22 | 1,996.2 RO MR 2S= {799 1,096.2 |ZX2s U gt 25
Al 214 | 3,058.1 2T X| 3,058.1
H A4
_ _ E| X
CHHS JPHS | HA (o) ] ek
AR 0475 (nef)
Z=21 | =21 | 1,061.9 RO M2 2C= 1460 1,061.9 |ZX2s U g 25
729 | =22 | 10062 |FOIA| AT = 1799 1,096.2 |ZX2s U g 25
=23 | =53 | 2,000.0 |OFAMA| BHEES EHRHE| AlS5-11 U 2,000.0 |Zx|2st ¥ gy 25
Al 34 | 5,058.1 3ZX| 5,058.1
13) SXAALdEX (HEQYF)
_ _ E| A
CHHS JPHS | A (nd) bl
A & (nf)
2x 2x 305.7 |ZIOIA| A7 Y= 1721 305.7 |ZX|2s g =25
Al 104 | 3057 1ZX| 305.7

_57_




14) 4HEI2EX| (HHUI)
SUAS DIPHE | B S7 b2
i 015 (n)
AT Al 6,246.4 |FICtA| M5+ 2= 1517 6,246.4 ZX=2g ¥ g4 &9
A 104 | 6,246.4 12X 6,246.4
15) MSAHHANEEA (HERUS)
N 3 A
EHUS DS | HA(nd) - b|22
FA ()
R A | 87160 KA IS RUR| 1858 2Rl | 87160 | ge =t F
Af2 Af2 7,569.0 |OFAHA| BHEYS S CHE| 405 €A 7,569.0 (2X=2e ¥ 2E =25
A 272> | 16,285.0 A=V 16,285.0
16) 758 AMH (HEUS)
T 3 A
EHHS DHS| HE(nd) CI WL
9Ix] 45 (o)
I I 1,061.0 |OfSHA] BHEYS SCHe| 190-10 €& | 1,061.0 |E2X2E Y & &5
212 | ©I)2 220.0 |OFAHAl S =il 184-1 LA 220.0 |2X2E % &Y =9
Al 22 1,281.0 22X 1,281.0
17) = =32 ML EX (HEUS)
1 3 A
ERNS IFPHE| B 12
Si| O15(nt)
51 51 697.0 |OFAHA] &Y O=2| 396-5 LUHA 697.0 |ZX=2g ¥ &Y =3
+52 4252 | 35,727.6 |OFAEA| AT BHQt2| 1291 35,727.6 |2X2g ¥ g4 &9
Al 214 | 36,424.6 2Z K| 36,424.6
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18) HEEX (HZE)
mJE
EHHS JPHS | HE(nf) = 1A o] el
A= 0% (nf)
ZxH | FRH 3,435.1 |FICA| M7 2YS 1487 3,435.1 |Zxi2gt ¥ gy =25
Z=R | FRR 1,277.1 |FOA| M7 2SS 1521 1,277.1 |ZR128t 9 81 25
ZR | AR 1,776.0 |HIQHA| M= 2= 1643 1,776.0 |ZRl28t 2 8t 25
A | R4 732.0 | TN M5+ 2= 284-14 L& 732.0 | ZRl2g ¥ By =25
R | TR 7321 |[HMOIA| MS7 2Y= 1632 732.1 |ZA2E U B 25
=6 | Z=XI6 620.6 |FOIA| A2 2= 159 620.6 |ZAl2Et U B 25
ZFRT | TR 959.3 |TICA| A=+ 2Y= 1723 959.3 |ZX|2E U &Y 25
ZRB | FXI8 1,676.4 | ZICHA| M7 2SS 1833 1,676.4 |ZA|2st U Bl 25
A | TR | 11,2156 |TICA| MST S2YS 1853 11,2156 | ZX|28 U &Y 23]
ZXHO | ZXHO0 |  5,593.0 |XIOIA| M Sot= 534-13 U 5,593.0 |Zx|2st U By 23
Z=XH1 | ZRH1 | 2,302.5 |AOIA| A2 2Ctk= 1849 2,302.5 |ZA2E U B 25
ZFAH2 | FRH2 | 3,512.0 |FICHA| MST 2L 532 2 3,512.0 |ZA2E U B4 25
ZxH3 | FRH3 832.0 |OHSHA| BT 052 237 YA 832.0 |ZAl2e U Y =25
Z=RHA | ZERHA | 1,592.0 |OMAA] EFEIDY Of=2] 475 U 1,502.0 |ZXi2g o &Y 23
ZXRH5 | FXH5 | 6,889.0 |OFMA| EATA Ol=2] 474 U2 6,880.0 |ZX2g & &Y &5
ZAH6 | ZXAH6 | 1,606.0 OFMA| BAUY Of=52] 251-2 LY 1,606.0 |ZXi2gt U s 25
Z=RHT | Z=RHT | 2,870.0 |OFAA| EFATY Ofj=2] 249-1 U 2,870.0 |ZA2E U B 25
Z=xH8 | Z=xH8 | 3,852.0 |OMAA| EFEITY Ofj=2| 258 U 3,852.0 |ZARE U B 25
ZFXAH9 | FXHO9 | 3,567.0 |OFMAl &AM D=2 249-1 UL 3,567.0 |ZX2e ¥ B 25
ZERI20 | Z=RF20 | 1,273.0 |OFAA| EFMOY D=2 493-2 U 1,273.0 |ZXi2g U s =25
Z=xl21 | Z=R21 | 1,036.0 |OFAA| BHLS ZHAlR] 511-3 L 1,036.0 |ZXi28 U s 23
Z=R122 | Z=RI22 | 1,244.0 |OFMA| EFETY 0f=2] 1017-2 U 1,2440 |ZRi28 U sy 25
ZRI23 | FRF23 | 1,883.0 |OFAA| HHEES A|we] 433-4 U 1,883.0 |Zxi2g U sy =23
Z=R24 | R4 | 1,236.0 |OMNA] BHEES Alwe| 437 U 1,236.0 |ZXi2a U &Y 25
AR5 | FXI25 | 6,056.0 |OFMA| BHES HCi2| 191-3 L& 6,056.0 |ZAl2E U B 25
Z=RI26 | Z=RI26 | 3,226.8 |OFAA| EFEIDY 252| 716 3,226.8 |ZAl2E U g 25
Z=RI27 | Z=ERE27 | 1,166.0 |OFAA] BT 0f=2] 506 U 1,166.0 |ZXi2at U s =25
ZR28 | TAE28 841.0 [O}AIA| BT Dfi=E] 427-1 U 841.0 |Zxi2g ¥ &Y =25
TAR9 | FX29 611.0 |OMMA] BPEPY 0f=52] 399-6 L 611.0 |Zxi2a ¥ &Y 25
Z=RIB0 | Z=RI30 | 1,278.2 |HOIA| AMER SEk= 1473 1,278.2 |ZXi2g U s =23
Al 30744 | 74,890.7 30ZX| 74,890.7
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SO IS | B () %ﬂ%' & o i
Z=xH | Z=&H 3,435.1 |FIQIA| ME7 S8YE 1487 3,435.1 |ZA|2e U &Y 237
=X | =X 1,277.1 |HOIA| MS7 Y& 1521 1,2771 | ZR2g & gy 23]
ZR | AR 1,776.0 |[TI2tA| ME7 2YS 15643 1,776.0 | ZX28 % 514 25
A | TR 732.0 |TIQIA| ME+ 2E= 284-14 LA 732.0 | Zrl2E 9 B 25
Z=x5 | T=x5 732.1 |MOIAl M2 Y= 1632 732.1 |ZX2E 9 B 25
=R | FXI6 620.6 |ZIQtA| M5 S-S 1596 620.6 | ZAILE U B 25
=X | =X 059.3 |HOIA| M7 Sa= 1723 959.3 |ZAI2E U B 25
=x8 | TXI8 1,676.4 |FIOIA| ME? SC= 1833 1,676.4 | ZA28 9 314 25
ZR9 | TR | 11,2156 |FICHA| MET S2YE 1853 11,215.6 | Zx128 9 i 25
FAHO | FAHO0 | 5,593.0 |FIQHAl ME7 SEE 534-13 LA 5,593.0 |ZAl2Et U Bt 25
Z=RH1 | Z2RH1 | 2,302.5 |ROIA| M7 2= 1849 2,302.5 |[ZAj2E U &Y 25
ZFAH2 | FRH2 | 3,512.0 |HOA| MST 2YE 532 LA 3,512.0 |ZAI2gt Y &t 25
Z=xH3 | =xH3 853.0 |O}AHA| EFAIDY p=e| 225-1 2L 853.0 |ZAlR2E ¥ &Y =9
ZAH4 | Z=RH4 679.0 |ORCHAl S Di=2| 4756 LA 679.0 |ZAl2E U s =25
Z=xH5 | Z=xH5 | 4,809.0 |OFAFA| EFEEY Df=g| 474 LY 4,809.0 |Zx2st U s 25
Z=RH6 | Z=RH6 | 2,878.0 |OFATA| EFAIOY Of=2| 251-2 LU | 2,878.0 |ZARs U Y 25
Z=RHT | =RHT | 5,330.0 |OFAFAl EFAIOY Ofl=2] 249-1 2L | 53300 |ZALst U ey 25
ZRH8 | =AH8 | 3,852.0 |OFATAl EFEITA Of=2| 258 U 3,852.0 |ZX2at U &Y =23
FAH9 | FXHO9 | 3,567.0 |OFAIA] ©ET D=2 249-1 LA 3,067.0 |ZAl2at U i 25
ZERI20 | FXRF20 | 1,273.0 |OFATAl EFSITY 022 493-2 U | 1,273.0 |ZR2E U gy =25
Z=xI21 | Z=R21 | 1,036.0 |OFATA| BHEES ZERHE| 511-3 U] | 1,036.0 |ZA=st U s 235
Z=RI22 | FERF22 | 1,244.0 |OFAA] EFETY D=2 1017-2 LN 1,2440 |ZR2gt 9 i 25
ZRI23 | =AF23 | 1,883.0 |OFATA| HHES M| 433-4 L | 1,883.0 |ARE U g 25
ZRI24 | FRF24 | 1,114.0 |OFATAl NS Mlwe| 437 U 1,114.0 |Zxes 9 3 25
ZRI25 | Z=RI25 | 6,056.0 |OFATAl HHELS EHe| 191-3 LY | 6,056.0 |ZX2st ¥ gy 25
ZRI26 | X126 | 3,226.8 |OFAA| EXAIUI 252 716 3,226.8 |Zx|2st ¥ sy 23
Z=R27 | Z=RE27 | 1,166.0 |OFARA| EFATY Of=2| 506 LU 1,166.0 |ZAl=st o i 25
Z=RI28 | TAE28 841.0 [O}AHA] EFMDY =] 427-1 YUY 8M.0 |ZA2a U B 25
ZRI29 | FAF29 611.0 [O}AFA] EFADY Ofj=2] 399-6 U 611.0 [ZA2a U s 25
R0 | FAR0 | 1,278.2 |FOHAl MST SYS 1473 1,278.2 |ZAi2at 9 &1 25
Al 3004 | 75,528.7 30Z K| 75,528.7




19) 29 MEX (HE)

Bk
) i g x|
SHHS I} S| B (xf)
91| 4% (x)
OIAH | OJAH | 509430 [OHMA| ST U4Z2 246-2 U | 50430
Al 12 5,943.0 12X 5,943.0
W
] ) g x|
SHHS JIPHS| A ()
SIR| ESTE
o9 AH A9AAH 10,036.1 |[OFAEA| ©&AU4 Oj=2| 246-2 10,036.1
Al 1714 | 10,036.1 E=PA 10,036.1

_61_




